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Instructor: Joe Betters
Course: Pre-Calculus Pre AP (Master Assignment: 2,1-2,2 Classwork
Course)

Student:
Date:

1. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

() = 4/3; g(x) = 5x ~ 2

(@) Find (F+ 9)x).

(f+g)x) =
{Simplify your answer. Type an exact answer, using radicals as needed.)

What is the domain of f + g? Select the correct choice below and, if necessary, fill in the answer box to complete your

choice.

O A. The domain is {x| L.
(Use integers or fractions for any numbers in the expression. Use a comma to separate answers
as needed.)

O B. The domain is {x| x is any real number}.
(b) Find {f- g)(x).

(f-g)x)=
(Simplify your answer. Type an exact answer, using radicals as needed.)

What is the domaln of {— g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

O A. The domain is {x| b

{Use integers or fractions for any numbers in the expression. Use a comma to separate answers
as needed.)

QO B. The domain is {x| x is any real number}.
(c) Find (f+ g)(x).

fra)x=
(Simplify your answer. Type an exact answer, using radicals as needed.)

What is the domain of f» g? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The domain is {x| b,

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers
as needed.)

(O B. The domain is {x| x is any real number}.

(d) Find [é] ().

(Simplify your answer. Type an exact answer, using radicals as needed.)

f
What is the domain ofE? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A
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2.1-2.2 Classwork-Joe Betters

The domain is {x] b,

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers
O B. zneerdesn is {x| x is any real number}.

{e) Find {f + g)(7).

(f+g}7)=
(Type an exact answer, using radicals as needed. Use integers or fractions for any numbers in the expression.)

(f) Find (f—g)(5).

(f-a)®=

(Type an exact answer, using radicals as needed. Use integers or fractions for any numbers in the expression.}
(9) Find (f+ g}(3).

(f+g)(3)=
(Type an exact answer, using radicals as needed. Use integers or fractions for any numbers in the expression.}

f
(h} Find (E] {27).

[1]27—
g en=

(Type an exact answer, using radicals as needed. Use integers or fractions for any numbers in the expression.)
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2. The function P{y)= 0.037y2 - 3.482y + 265.450 represents the population P {in millions) of people in 2005 that were y years
of age or older.

(a) Identify the dependent and independent variable.

(O The dependent variable is y and the independent variable is P.
(O The dependent variable is P and the independent variable is y.

(b) Evaluate P(20).
P(20)= {Round to three decimal places as needed.)

Choose the answer below that explains the meaning of P(20).

The value of P{20) is equal to the number of people {in millions)

(O A. bomin 2025,

(O B. who were 20 years of age in 2005.

O C. in2025,

(O D. who were 20 years of age or older in 2005.

{(c) Evaluate P(0).

P(0) = {Round to three decimal places as needed.)
Choose the answer below that explains the meaning of P(0).

The value of P(0) is equal to the number of people (in millions)

) A. in 2005,
O B. in 2004,
~ (O C. bornin 2005,
O D. who were 0 years of age or older in 2004.

3. An airplane crosses the Atlantic Ocean (3000 miles) with an airspeed of 550 miles per hour. The cost C (in dollars) per
passenger is given by

x 33,000
Cx)=75+ 15-!- x’

where x is the ground speed (airspeed t wind).

(a) Wha;t is the cost per passenger for quiescent (no wind) conditions?

$ {Round to the nearest cent as needed.)

{b) What is the cost per passenger with a head wind of 50 miles per hour?
3 {Round to the nearest cent as needed.)

{c) What is the cost per passenger with a tail wind of 100 miles per hour?

$ {Round to the nearest cent as needed.)

(d} What is the cost per passenger with a head wind of 100 miles per hour?

3 {Round to the nearest cent as needed.)
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4, Determine whether the graph is that of a function by using the vertical-line test. If it is, use Ay
the graph to find i 4 1
(a) its domain and range. RN -
{b) the intercepts, if any. "“*{ 10T
{c) any symmetry with respect to the x-axis, y-axis, or the origin. f ™ x}
-8 4// i ] B
o e
2- b
:

Is the graph that of a function?
O No
QO Yes

What are the domain and range of the function? Select the correct choice below and, if necessary, fill in the answer box to
complete your choice,

O A. The domain is . The range is
(Type your answers in interval notation.)
(O B. The graph is not that of a function.

What are the intercepts of the function? Select the correct choice below and, if necessary, fill in the answer box to complete
your choice,

O A. The intercept(s) is/are .
(Type an ordered pair. Use a comma to separate answers as needed.)

) B. The graph is not that of a function.

If the graph is that of a function, determine what kinds of symmetry it has. Select all that apply.

[ A. The graph is a function and is symmetrical with respect to the y-axis.
[ B. The graph is a function and is symmetrical with respect to the x-axis.
[C] €. The graph is a function and is symmetrical with respect to the origin.
[ D. The graph is a function and is not symmetrical.

[} E. The graph is not that of a function,
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5. Answer the questions about the following function.
8x2

fx) =
x*+ 16

a) s the point { - 2,1) on the graph of {?
b) lfx=1, whatis f(x)? What point is on the graph of f?

¢} Iff(x) =1, what is x? What point(s) are on the graph of f? !

e) List the x-intercept(s), if any, of the graph of f.

{

{

{

{d) What is the domain of ?

{

() List the y-intercept, if any, of the graph of f.

Page 5 of &

{(a) ls the point (—2,1) on the graph of ?

.O Yes

O No

| (b) Ifx=1, whatis f(x)?

f(1)y=
{Type an integer or a simplified fraction.)

Use this information to list a point on the graph of f.

{(Simplify your answer. Type an ordered pair, using integers
or fractions.)

{c) Iff(xy=1, what is x?

x -
(Simplify your answer. Type an exact answer, using radicals
as needed. Use a comma to separate answers as needed.)

Use this information to list two points on the graph of f.

(Simplify your answer. Type an ordered pair. Type an exact
answer, using radicals as needed. Use a comma to
separate answers as needed.)

(d) What is the domain of f?

The domain is .
(Type the answer in interval notation.)

{e) List the x-intercept(s), if any, of the graph of {. Select the
correct choice below and fill in any answer boxes within
your choice.

O A. The x-intercept(s) is/are

(Type an integer or a simplified fraction.
Use a comma to separate answers as
needed.)

(O B. There are no x-intercepts.

{f) List the y-intercept, if any, of the graph of f. Select the
correct choice below and fill in any answer boxes within
your ¢choice.

O A. The y-intercept(s) is/are .
(Type an integer or a simplified fraction.
Use a comma to separate answers as
needed.)

{3 B. There are no y-intercepts.
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6. A golf ball is hit with an initial velocity of 160 feet per second at an inclination of 45° to the horizontal. In physics, itis
established that the height h of the golf ball is given by the function

- 32%°

1602
where x is the horizontal distance that the golf ball has traveled.

hixy= +X,

(a) D;termine the hei;;—r;; of the golf ball after it h.a;;;a.\}eled 100 feet.
h= feet {(Round to one decimal place.)

{(b) What is the height after it has traveled 300 feet?

h= feet (Round to one decimal place.)

(c) What is the height after it has traveled 400 feet?

h= feet (Round to one decimal place.)

(d) How far does the golf ball travel before it lands?

X= feet {Round to one decimal place.}

(e) Graph the function h = h(x).

Which of the following is the graph?
O A. O B. Oc.

220 220 440

TTFTTTYY
T

p a1 s 0 b 2000 g B e d 1000 0 b 2 1000
0 0 Q

() Use a graphing utility to determine the distance that the ball has traveled when the height of the ball is 100 feet.

(O A. The ball has traveled feet,
{Use a comma to separate answers as needed. Round to one decimal place.)

(O B. The ball has not traveled.

(g) Create a TABLE with ThiStart=0 and ATbl=25. To the nearest 25 feet, how far does the ball travel before it reaches
a maximum height? What is the maximum height?

To the nearest 25 feet, the ball travels feet.

The maximurn height is feet.
(Round to the nearest whole number.)

(h) Adjust the value of ATbI until you determine the distance, to within 1 foot, that the ball travels before it reaches a
maximum height.

ft
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1.

3X +5x-2

A. The domain is {x| x=0 L.

{(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

3X —5x+2

A. The domain is {x| x20 L,

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

5x4/ 3X — 24/ 3X

A. The domain is {x| x20 .

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

[

Bx-2

2
A. The domain is {x] x20,x# ¢ }

{Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

JE+33
V15 23

39

9
133

Page 7 of 8

. The dependent variable is P and the independent variable is y.

210.610

D. who were 20 years of age or older in 2005.
265.450

A, in 2005.

L 171.67

174.33
169.10
178.33

. No

B. The graph is not that of a function.
B. The graph is not that of a function.
E. The graph is not that of a function.
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5. Yes

8
17

2
1'17
2,-2
(2!1)1(“211)

(-—OO, 00)

A. The x-intercept(s) is/are 0
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

A. The y-intercept(s) is/are 0
{Type an integer or a simpiified fraction. Use a comma to separate answers as needed.)

Page § of 8

6.87.5
187.5
200
800

220

0 Bty L 1000

B. 0

A. The bhall has traveled 117.2, 682.8 feet.
{Use a comma to separate answers as needed. Round to one decimal place.)

400
200
400
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